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= . _ PART - B (Q. No. 51 - 150)
':_5]..' w.*mh plﬁﬁiﬁd“wm Sun ?
M;MHSFY (b) Venus
(c) . (d). Earth
fege e B9 o _
(@) Z0 (b) Baw
(c) W (@ usd
L@i" wmm}:;‘]ﬂgfhﬁuwing are non-invasive techniques of studying brains 7
i B
i MR
v PET Sﬁn
(2) _1mdumﬂy (b) i and iv only
(¢) i, iiand i only (d) L i, iii and iv
m%ﬁwmqm@w+_ s fedndt 76
i ﬁmmwﬂ (MRI)
() i I free

(@) 1l fiin2 v

1 [ ]
L } 1 jiamictl
of upper hous par |

i edhhocﬂmsnmemhcr
B (b) 30 years
(dy- SOyears
b e O 3 R B BT O
. (b) J0FE
id) 50 A
here in the body of 0 human infant '.‘
(b} 208
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(th 270
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56, Which is the capital of Canada 7 :
@) Toomt: cwitlo (b) Vancouver
(&) Ottawa Ry (d) M"m‘"
"5 oA et B
@ =¥ () *ﬁaﬂ a
() Eewer (d)
f‘s;}' When did India play its first cricket test match I e -
T @ 19 325
fc) 1947 1951 e
T3 3 miuE st famz 2ee i we 1 i
(a) 1931 (0) 192
(©) 1947 (@) 1951
“Jockey™ mﬂwlmnumaimdmﬂiwhmhwﬂn? 1 =
&’ (@) Archery ()  Lawn tennis
{c}  Table tennis i (d)
HE® ‘sl f9H 48 5% Aifrz Y 7
(8) Stowiet (b) @
(c) ZHw 2w _ (d) d
50, Wl:ou\'z:ienskyl’ . Dy
{a)  Defence Minister of Russia (b) 8 Of NAT
()" President of Ukraine {d) S of UNESCO
& B a2 & 7 !
(8) FHE o st ) F3
(©) T¥ds & gHzast W) g
60, Inwhfr.;;yw ﬂmrmwmmm“m!um‘
1913
¢}
’&amfﬁi uﬁwﬁma’rfm; T e
(a) 1913 )
(e 1930 (d)

H ' Who i the author of the book “Tule of two cities™ 7
. n

nEwa dy
‘% .Mﬂ" f!m: T e
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I 63 Who is the only player t have won singles “Golden Slam” in Lawn tennis 7
(a) Novak Djokovie (b) Serena Williams
{(c)  Steffi Graf (d) Rod Laver
s fast & moin 2fen U9 fiams (fed®) “doss 7O ffanr & 1
_{(ay Fex sEafew () Priwr few
(¢) weFtqe (d) 3= B=s
64. Out of the following which is the biggest unit for computer data storage ?
(a) Mega Byte (b) Kile Byte
(¢) GigaByte __{dy~ Tera Byte
%}mfmaﬁﬁ‘afﬁd_@za%i?ﬁmmﬁmﬁmi’#wm%?
(8) Per@ElE - ) fa@ wEe
(c) @i FETE @ eF wERe

65. 'Which of the following is recently recognized as a National Party (Political) ?
(1) Trinamool Congress - (b) Bahujan Samaj Party
(¢) National Congress Party. : (d) Aam Aadmi Party
ﬂfeféné'ﬂuﬁﬁcﬁmﬁhﬁﬁwfhﬁﬁ? |
' i (b) EgHE AW UEeEl i
(d) niH nieHt UEET 1

% FEaH
e of Lok Sabha can ask a member of the house 1o stop speaking and let anotbes

What is this known as 7
e (b) Calling attention mation

{d) Crossing the floor o s
?%ﬁﬂﬂ?%wﬂfaﬁﬁa?{‘ﬁﬁm‘

it
ni (Lok gibha or Rajys Sabha) is adjourned without 08
l (h)  Adjournment ufddri-.-
ing hotse (d)  Adjoumment Sine dic ot &
b e ) £ 00 ) it e o 4 ol



g'-ti;. The major pollutant from gutomobile exhoust s, ..

(a) WO (b}

(e} 5Oy (d) CU: .
it @ S8 OEHETES Are) e O NERE §

(g) NO ) Co

(e} 50, 4) €0y

789,/ A high Biological Oxygen Demand (BOD) indicates thal.. . T o

L {a} Water is pure [b} M ] 4 po“'l,ﬁio‘ll
(6) Low level of microbial pollufion (@ Highlovel oIEg, o s o
@ Fre-felasa hraREe Ha = nrrs ) € il ﬂa. é#mt :
() vEETE (m St ‘ﬂ’m _.,.I_."", i ke Tw
(c) TerE uTgHA T uE T () m{lﬂﬁﬁwﬂ"

70. Which of the following meéans mixed coonomy 7

(z) Traditional and modem mdustries :

{by” Both public and private sectors are inviolved

{c) Involvement of both foreign and domestic investors:

(d)  Emporance fo both industry and agriculture: il
FrahnE fod fage fme 1Eed eSS nrgtea @ 1
() TeTEd AR GeEE

(b) mEEE (usfiw) Wi A BET ¥R S OF

(o) 2 w3 feedt o fedEe € A

) Geva w3 iStest v & HoES

71, Pingali Venkaya is relutcd to which of the following?

{a) Indian Army " Ing Aol T

L}

{c) Indin’s National Anthem
filar B otz T i AE EiOS D T

CL
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U4 Who laid the foundation of Durgians Mandir at Ameitsar? - l

...-"'EH'] Madan Mohan Malviva (b) Gopal Krishan Gokhale
(c) Lala Lajpat Rai (dy, Pr.Jawahar Lal Nehru
wifizre el gaforis ies ¥ At Ume fams Shoar 7
(8) Hem Hos HEeT (b). du faEs S
(c) =T ®AUS TE (dy feT FeE B HE

75. In which year did Punjsb and PEPSU merge 7

{ﬂ} 1950 f_h,'i 1952
lIT-ITH i uy far 7S €9 5978 aE Ao 1
(@) 1950 () 1952
(c) .1956 (@) 1957
76. Wlﬂlmnfmme}'anﬂmtstnfSﬁMmﬂmym&l 15% per annuth simple interest
) o (d T 7,000
MﬁﬂimﬁﬂﬁﬁWWﬁﬂs.mwmﬁ?
(b} 6,000 TuE
(d) 7000 suB

ith capitals of T 36,000 and T 90,000 m;p:cmrcl\-

Mg‘;::d off the vear, What is Mansi* § share in-the profit ?
() T 10000
, {d) 233,000
A nﬁgtnﬁmrmwmwﬁmnm
A .'ﬁwé:g}u guEm farey et it fefRT
i by 10,000 FuE

() 35000 guE

i coffen m ¢ 1258 sl at € 200, What s bis o™
i 0
) 60%

() m- !

() 60%
(d) W% z

|



On the day of donation he changed

79, Sushil decided to donate 16% of his salary for a chanty: decided earlier. HOw much is

his miind and donated ¥ 3,792 which was 75% of what he

Sushil’s salary ?

fa) T21,500 () T11.400

(6}~ ¥ 31,600 (d) TA4L400 e
— site niUE S64T ¥ 160 THET BT maaﬁ'?%mﬂ’?’ﬁ' SEEHUG € =0 3¢

TR HE BEeET O S 3,792 FuE, 7 8Fe ufed o 75% T8, 6 aac’ o1 HHS

(a) 21,500 E (b) 11,400 TUE

() 31,600 FUE (dy 41,4009
80. 36% of & particular number is 756, What is 54% of the number 7

(@) 1045 by 1134

(¢} 1165 (d) 2165

256 i umE wig T A6% U Gr wig = 54% T 3 1

{a) 1045 (by 1134

{e) 1165 (dy 2165

81. inabag there are a certain number of coins of the denominations® 1, T 2 and T 5 in the ratio

of 3+ 4 15, If the total value of the coins in the bag is T 756, then the total number of coins
in the bag 15

(g, 332 {b) 356
gy 252 (d) 116
“ o w fE 1,2 w3 5 uE € il 3:4:5 ¥ vigus ‘T om A rrpd o
- 1o et | & #n2 ot 1
g% ahE 756 uE ¢ I EFS gw i) 75 ¢ PR TH: =
() 332 (b) 356
ey 252 (d)y 116

Then the numbers are
{a) 39 &nd 63
_dey 63 ond 49

E:r Twior num‘h‘fﬂﬁ fre n 1.hf ratin 287, I 1415 hubm‘d ﬁ'ml'l mh lh
i c rn“.i.' b >
CCOImc

(b) 28 and 45
(d} ! m.ﬂﬂﬂ

S wig 97 2 mys W on) A Fet fed 14 § ueiene o
B 3w @ wig 5| B oy 7. 5 ¥ A
{n) 3036l ih)
{g) 63 nfd 40 () m‘:g“
49
@ Whast e the compound interest on € RLLT T m
gompounded quarterly ey Mum for " '
(W ToAns r 9 months, interos
&) T2.500 ™ %252

© . {dl! 02
'.'-'(!'iﬁlﬂ HuP 20% wme fimm e 3 ""’"‘L f;h‘%s "
R, = o wattient @ S fenra i ]
3455 ol e (Emreet) W
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o m‘w&w‘mﬁ‘ﬁ 20, If two numbers are 14 and 28, then find the third 1 ber
i umber.

(¢ 10 Sl (d)y 24
i vt € S 20 1 A ¥ W 14 13 28 5, 3 e ok B
() 10 () 24

D

785! The “m.muﬁ' 16 items is T 59, Four items with an average price of
and three other items costing T 39, T 49 and T 40 are also rmﬁ;ﬁnifﬂmd
(m) 59 . Ly 6 .
© ' @ mn
s wﬂﬁmmﬂ‘ﬂﬂ%' 4 Tat 95t g ahE 60 TuE 8, TR S
it HEE{@EWW # ol 30 T, 49 TUB i 40 JE TS
(8) 59 s

@ mn
omer ““.@.I!Pimu of work in 54 days, then'in how many days can 9 men

(h) 33

() 56

: 'ﬁfeﬁ*fﬁrwm%wzwm?m% 12
() 33

{d) 36

pe pipe: hBlﬂ'C.Hpn.Aia_mmfnsiupipcB.mdpipr
much :ﬁiﬁ'ﬁﬂt#nmmnﬂu&wﬁ?

o (b) 12 hours

(d) 32 hours N
aver 1 ufeu A, BE TE 5

3 £ gas v ot et

: o i 65
in §5 minutes and the remaining 59 km i i
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O el 39 iz o



Cﬁfakmbenfuaunemmaﬂmmmmnmﬂmw ’

muﬂmbamh:a'bmnﬂd?

(a) 100 (b) 1000 L
(c) (d) IEDQIJ
mmﬂﬁuﬁﬁwz#m#ﬁﬂﬁ?u'ﬁu@,;
i T2 82 we fimad |

(&) 100 (®) 1000
(© 10 (@) 100000 .
@ﬁ? goat is tied by & Tope of length 10:m to a pole al 8.¢ orner of & fie d of length 100 metre
and breadth 50 metre. What is the ares of field it can graze ? ‘ _
(@ Isrm’ _[h}flﬂx.f_
(€) 25mm’ 30m m

fﬂaﬂaﬂﬁlmmﬁﬁmﬁrsmﬂﬁﬁ'&m%_ ﬁﬂﬁﬂ’mmm—d‘u‘éﬁﬁ
== St wiET 31 s w 839, 78 dad 99 Aawt d, 1o 7

(@) 15wm?
e} Ziﬂ'm




. %ﬂmﬁ; ; mw&:? Jay said, “He is ﬂ;: mnut'the only son of my mother”.
T T
USS O\ o @R R B fa¥ ez 7 <
5 = e

96.  What will be the next term in the given series 25, 49, 81, 121, 169, ...
() 361 tygss
(© 200 (d) 389
et vt Fidte 25,49, 81, 121, 169, ... R iy wis ot 3 ¢
(a) 361 Ab) 225 :
(c) 269 (d) 389
_97.  Select the odd one from the following :

E!L]_I'l ::;: (b 342

¢) 13550 iR S () 124

fomteE e e g v : g

(a) 513 b 342

() 1351 By 124

; igns sh _ changed to make the given equation correct ?

(b) -+ and
. (Ometemds (my |

(b) =T x
(d) +n3-

(b) 168
(@ 356

B 48 5 25 ~ 27 4 102
ol Iqﬁs a th] 2“

(d) 100 A
e e B A A
25 x 25~ 27+ 10 =7 @t a3

1 - &)r, w :

] ' | J



101. Locate the Subject in the following sentence : o
While working in the bank, she leamt a lot about beneficial investments.

{o)  while working in the bank {byTshe L.

(c) leamnt (d) about beneficiil investments
102, Locate the Verb in the following sentence .

John and fis sister who is in the theatre group are travelling to Franoe,

_in¥ are travelling

th) - Jobin and s sister

(e} John and his sister who s in the theatre group

{d} to France
103, Locme the Adjective in the following sentence :

She is prettier than her sister who works in films.

_ fay+ Prettier (b} Sister (¢} Works (d) Films

104, Locate the Adverh in the fallowing sentence : )

They worked very diligently for the upcoming concert buming the midnight oil.

(e}, worked (b}~ diligently () upcoming.  (d) " the midnight oil
(f[!-’r_"' Chuose the correct synonym for : '
Naive
A} (Greedy {t) Tired ()  lntelligen
o gent ;
illlﬁ,--_’t‘hmstthronnmmmaﬂjm for il e
Crooked bl
{8} Detest (b) Straight (o)

Chmmﬁ‘se right term for -
A disease found consistently in« given place or in a lig
_ m_  Endemic (B)  Epidemic (c)

/'é@ Clhioose the correct meaning fo
Jump on the bandwagon

@) give away a secret
(€)  following s rend

H#ll — most capable officer in the whole b
(@) a ) an

(‘} No article
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» HAggwe fig ugss ) .
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........... & o o 3T & A w2
(@) fe=m (b) wit () B (d)—7g
119. e amdE Fae d: -
(a) HYS TH I (b) I F9d Fa e I
(o)~ HS HidT 3= () & mr
120. o & e HEE T _ .
LA g (- Gl b
= S

(b) s, R
(d) fraw, TS, &

gt e S0t g B e 7
e i {_EJ,_. ﬁﬂ'

o nﬁﬁ'lll! @ fada

(@) @ adt
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126. Which one is not & Storage Drive of Computer

ive
~ golid-Segment Drive EE; PDG\?]:I&TMW
{c‘} Hard Disk Drive i o
ferra o d57aE Uad (ACIT ﬁ@ﬁi G
Faie sEER ( =J é_ 1%
e @ =t STER

() o8 (org S9ER

127, What is the full form of IP in TCP/TP? protocol of Network ?

(a) Intemet Practice
(c) Imformation Practice

oA
(d)

et At & dwad %Wflﬁﬁfﬁ:ﬁﬁlﬂw

7l
(@y Mzl Yafew (b)
({3 fSsgarnaa ‘QE[”H (d)

wnmapmmml

Idcnttt:f Emﬁﬂ Gt

128. Which of the following is NOT an operating system & 2

(a) Linux (b)

S o Mmmsoﬁ Access (d)
Feyfis @ foroar nuatéa faren &dt @ 1

(a) HrEREA (b)

() HEGASE MaAA (d)
129, What is the smallest unit of digital information ?

&) Bit (b) :Byte )
a3 2t fewret faadt @ 0

(b) EERE (€)

(b)

Semillon

(c)

w7 ¥ feg S Omurs) ekt g8 @

{h) RHISS

(b) Ctrl+A
¥ing is not a web browser 7

this option suggest other words with a similar meanir

5%%; :

& ) Google Chrom
mmﬂ_a e (c)

Unix
DOS

% (&)
‘Terabyte

@ Gigabyre

@ darErete
ming o the word which you

Indent

WSS T8 mEw geEE



@) Saﬁﬂ%w 15 used to calculate the
ﬁﬁ 2 EH_LI:;FSQRT -‘quﬂer[l;tuf;&umh in Excel 7
@ saNp o et 'S fa Tﬁ““ i ('d)" =37
,
How js the Punjab R BORT {©) SORT il
@ P o in the Rigvoda 7 R
= s fﬁ‘g} Tse-kin ¢} i .
:Hm) firara l.hlag;“} o S apla Sidhaveh ((d) Labore Suba
35 The g
] © wuEr d
Eﬂ} lﬂmv nﬁm“:jhmsh was known for Shida
¢} Arts and Architecture L
attle
- ; fﬂﬂéﬁf =N {d} = Trade and Commerce
(c) & w3 s o it
=T i o I
137 :-Imtbemihunf]’wﬁhngu- o
@) Luna ’
(b) Ichhran
m e ] {¢) Sundran {d) Shokunmln
[g}_ war by st ¢) Heat ) FEEE
Where did Guro Nanuk mmma:lnpﬁ?" " -
(a) Sultanpur Lodhi (b} K
W??H%Hyﬁﬁmﬁl‘aﬁz&r i b
@ mEmEE © i o] ey
s ) FEITE

() Aurangzed
(d) widarie

() Orthodoxy
(d) ez e
(d) Nuunibal Singh
(@ AfsoE




7 emient : /
jod of P Sambhnl.lalm?dmcm - S
(143 Mention the period © {3_“&1“ 187273 (c) 190500 (d) 19708

{a) 1849-50

et BIE T wfirg @ AN oA : _ G0N
(a) 1849-30 (b) 1872 73 (¢) 100506 (d)
144, Identify important personality in 1919 in the Funjub_' e
(s) Sardar Ajit Singh y-Saifuddm Kjlnhil':w
“(d) Lala Lajpst Rai

(¢) Bhagat Singh

mﬁgmmaqum

{=) Haery wiEtg A ﬂ;ﬁﬁfﬁa@
m:- Wwﬁ‘ﬁﬂfé

(¢ =as fiw
; Which field did Dhani Ram Chatrik belong to ? ' )
(a} Science (b) Sports g;y* Literature ‘(d) Agriculture
aH gfuw for ST &5 e due 05 7
{u’} f-z’aw"s by (¢ o= () Bt
146, When was Bhagat Singh executid 2 7 |
(o) 1928 {1931 (¢) 1941 (d) 1945
=g fqw & & o 5T e 1 '
m 1928 by 1931 (c) 1941 (d) 1945
I-IJ. ‘Who was the Chairman of the Punjab Boundary Commission (1947)
/(w) 'B.J. Glancy (h]ﬁ_.Muhnmmnd Mun,ﬁ'
ey M.C. Mahajan d} Cyril Rndnhfﬁ
T mﬁ‘aﬁaﬁmmmm T Sahs 2E
{bl
“d)
(b
(d)

__.mmlimﬂmnmhiohﬂla* 7 EeSa B

= (b) Nankuna Sshib 2 % i
ﬁa‘mmﬁﬁ“"%” dpar Sahib (d) “Rurukshetra

{h} EEE‘E‘ H‘fﬂ-a {c} m#e.ﬁ
- Hﬁs
. 1! ﬁhu‘-ﬁﬂi mnmled with ? @d) @m

@) Archery




